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gFjp - I
midj;J tpdhf;fSf;Fk; tpilaspf;Ff.

tpQ;Qhdk;  myFg;guPl;ir 3 Neuk; : 40 epkplk;juk; - 11 

tyaf;fy;tp mYtyfk; - njd;kuhl;rp

01. rupahd tpilapd; fPo; NfhbLf.

01. gpd;tUtdtw;Ws; vJ jpz;k> jput Vftpdf; fyit.
 1. CO  thA + RL ePu; 2. cg;G + ePu;  3. kJrhuk; + ePu; 4. NfhJikkh + ePu;2

02. NaOH ,d; epakf; fiury; jahupg;gjw;F Njitaw;w cgfuzk; 
 1. fdkhd FLit    2. fbfhuf; fz;zhb 
 3. Gdy;      4. NaOH

03. 6g A+upahtpYs;s A+upahtpd; %y; vz;zpf;if
 CO(NH )  - A+upah  C - 12  H = 1  N = 14  O = 162 2
 1. 1   2. 10   3. 0.01  4. 0.1

04. nrg;G ry;Ngw; fiurypYs;s fiug;ghd;> fiuak; KiwNa
 1. ePu;> nrg;G ry;Ngw; 2. nrg;G> ry;Ngw; 3. nrg;G ry;Ngw;> ePu; 4. Nkw;$wpa vJTkd;W

05. Mtpg;gwg;Gf; $ba gjhu;j;jq;fis mtw;wpd; %yq;fspypUe;J gpupj;njLf;Fk; rpwe;j 
 Kiw 
 1. gFjpglf; fha;r;rp tbj;jy;   2. nfhjp ePuhtp fha;r;rp tbj;jy;
 3. vspa fha;r;rp tbj;jy;   4. fiug;gghd; gpupj;njLg;G

06. fuhk;gpy; vg;gFjpapypUe;J rhnwz;nza; gpupj;njLf;fg;gLk;.
 1. tpij   2. mUk;G  3. jz;L  4. Ntu;

07. fly; ePupypUe;J cg;Gg; gpupj;njLg;gpd; NghJ gad;gLj;Jk; Kiw
 1. Mtpahf;fy;> gspq;fhf;fy;   2. gspq;fhf;fy;> gFjpglf; fha;r;rp tbj;jy;
 3. Mtpahf;fy;> vspa fha;r;rp tbj;jy; 4. kPs; gspq;fhf;fy;> Mtpahf;fy;

08. kzypYs;s ,Uk;Gj; Jfs;fis gpupj;njLf;f fhe;jk; ghtpf;fyhk;. ,q;F gad;gLk;
  ngsjPf ,ay;G
 1. $Wfspd; mlu;j;jp tpj;jpahrk;  2. $Wfspd; gUkd; tpj;jpahrk;
 3. $Wfspd; fhe;jtpay;G   4. $Wfspd; ,urhad ,ay;G

09. X vDk; xU fiuak; ePupy; fiufpwJ vdpy; X, ePu; ,uz;bYk; ,Uf;f Ntz;ba ,ay;G
 1. X ck; ePUk; KidTj; jd;ikAila mNrjd Nru;it
 2. X ck; ePUk; KidTj;jd;ikAila Nrjdr; Nru;it
 3. X Nrjdr; Nru;it ePu; mNrjdr; Nru;it
 4. ,uz;Lk; KidTj; jd;ikAs;sjhfNth> KidTj; jd;ikaw;wjhfNth ,Uf;fyhk;.

10. fyit gw;wpa $w;Wf;fspy; gpioahdJ
 1. ,uz;L my;yJ ,uz;bw;F Nkw;gl;l $Wfisf; nfhz;lJ.
 2. xt;nthU $wpYk; ,urhad ,ay;G khWk;.
 3. $Wfis ngsjPf uPjpay; gpupf;fyhk;.
 4. xt;nthU $wpdJk; ,urhad ,ay;G khwhJ.
             (10x2= 20 Gs;spfs;)

 vy;yh  tpdhf;fSf;Fk; tpil jUf.
 
01. A. Ma;T $lj;jpy; fuhk;gpypUe;J rhnwz;nza; gpupj;njLg;gpw;F khztdhy;
   mikf;fg;gl;l cgfuz mikg;G jug;gl;Ls;sJ.

        1. vg;gpupj;njLg;G Kiw ,t;Tgfuzj;jpdhy;
;          Nkw;nfhs;sg;gLfpd;wJ?
             (1 Gs;sp)
        2. A, B, C, D Mfpa gFjpfisf; Fwpg;gpLf.
             (2 Gs;sp)
        3. ,t;tikg;gpYs;s 3 FiwghLfisf;
          $Wf.
             (3 Gs;sp)
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               (4 Gs;sp)

3
   b. 500cm  fiurypYs;s NaCl  ,d; jpzpT ahJ?

             (2 Gs;sp)
-3 3

  2. epakf; fiurypy; 1mol dm , 500cm  NaCl jahupf;f Ntz;Lnkdpd;

  1. epakf; fiury; jahupf;fj; Njitahd cgfuzq;fs; vit?

3
   a. 500cm  fiurypYs;s NaCl  ,d; %y; vz;zpf;if vt;tsT?

      NaCl ,d; %yf;$w;Wj; jpzpT = 58.59
             (4 Gs;sp)

             (4 Gs;sp)

  3. epakf; fiury; jahupf;Fk; gbKiwia vOJf.

02. A. xU khztd; Ma;T $lj;jpy; NaCl ,d; epakf; fiuriy jahupf;f tpUk;gpdhd;.

  4. muprpapypUf;Fk; kzy;

 C. gpd;tUk; fyitapypUe;J $Wfis gpupj;njLf;Fk; Kiwiaf; $Wf.

  5. fUk;gpypUe;J rPdp

  1. kJrhuk;> ePu; fyit

  3. khRf;fisf; nfhz;l cg;Gf; fl;bapypUe;J NaCl I gpupj;jy;
  2. gr;iraf; fyitapypUe;J $Wfs;.

             (4 Gs;sp)

             (4 Gs;sp)

  1. A+upahtpd; %yu;jpzpT ahJ?

  2. 6g khjpupapYs;s A+upahtpd; %y; vz;zpf;if vt;tsT?

             (4 Gs;sp)
  4. A+upahf; fiurypd; nrwpT ahJ?

   fiuryhf;fg;gl;lJ? C-12, O - 16, N - 14, H - 1

3
 B. 6g A+upah (CO(NH ) )fha;r;rp tbj;j ePupy; fiuf;fg;gl;L 500cm  A+upahf;2 2

3 
  3. 1000 cm fiurypYs;s CO(NH )  d; %y; vz;zpf;if ahJ?2 2

             (4 Gs;sp)

     tpepNahfpf;fg;gLk; fhuzk; ahJ?

  1. cg;gsq;fs; mikAk; gpuNjrk; nfhz;bUf;f Ntz;ba Rw;whly; rhu; fhuzpfs;

             (4 Gs;sp)

  3. cw;gj;jp nra;ag;gl;l cg;G 6 khj fhyk; Ftpj;J itf;fg;gl;l gpd;Ng
             (3 Gs;sp)
    ,urhadr; #j;jpuj;ij vOJf.

   cg;gsq;fspy; gpupj;njLf;fg;gLfpwJ.

             (3 Gs;sp)

 B. fly; ePupypUe;J cg;G gpupj;njLg;G ,yq;ifapy; Kf;fpa xU ifj;njhopy;. ,J

     vit?

  2. cg;gsq;fspy; cg;G cw;gj;jpapd;NghJ xt;nthU ghj;jpapYk; gbAk; gspq;Ffspd; 

           (nkhj;jk; 10 Gs;spfs;)

             (3 Gs;sp)

             (2 Gs;sp)

 4. tpdh 3 ,y; $wpa FiwghLfis eptu;j;jp nra;a ePu; vLf;Fk; eltbf;iffisj;

    gha;r;rg;gLk;? fhuzk; ahJ?

     jUf.

     gad;gLk; gpupj;njLg;G Kiw ahJ?
  7. A apy; xU fyit ngwg;gLk;. mf;fyitapypUe;J rhnwz;nzia gpupj;njLf;f

  8. tpdh (7)y; $wpa gpupj;njLg;G Kiwf;F mf;fyitapd; vt;tpay;G
     gad;gLj;jg;gLfpwJ?

             (1 Gs;sp)

             (2 Gs;sp)

  6. X, Y apD}lhf ePu; gha;r;rg;gl;L ntspNaw;wg;gLnkdpd; vjD}lhf ePu; cs;Ns 

  5. rhnwz;nziag; gpupj;njLf;f Vd; ePuhtp gad;gLj;jg;gLfpwJ?

             (15x2= 30 Gs;spfs;)
             (1 Gs;sp)  

       
 
              (5x2=10 Gs;spfs;)


